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Explain about five types of office stationary and

their use.
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8. Describe the functions and working of three labour
saving devices commonly used in modern office.
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Discuss the advantages of mechanisation.
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Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 8 marks.
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All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
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The figure in right hand margin indicate marks.
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What is the use of card-less phone in office ?

Ble—ald BIF &I Ay & w1 SUFIfirar 87?2

Which are the different sources of oral

communication ? Name them .

Mg GUYIT & FAT—FAT e § ? 4
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What is Yellow Pages ? Where is it used ?
qid—ua 91 € ? Ig HEl YA BT & ?
What is parcel ? What is its benefit ?
4
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Full form of P.B.X. is

(a) Private Branch Exchange
(b) Patna Bankipore Exchange
(c) Private Basic Exchange
(d) Patna Branch Exchange
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Telephone numbers are arranged in -
(a) Dictionary

(b) Chart

(c) Directory

(d) Time Table
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Answer all Five Questions.
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2.

Why folding furniture is made ? Is it useful for an
office ?
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Communication within organisation is -
(a) External Communication

(b) Internal Communication

(c) Both

(d) None
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2 ?

(31) arEa AUWUT
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Data processor includes -
(a) Punch card machine
(b) Note pad

(c) Note book

(d) Stapler
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Which of these is not a stationary ?
(a) Fascimile

(b) Stapler

(c) Calculator

(d) Pencil

S 9 T LRI P axqg 2 2 ?
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(@) €uerr
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Which is not an office machine ?
(a) Type writer

(b) Dictating machine

(c) Microwave

(d) Duplicator
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Time recording clock is used to record -
(a) Arrival time and departure time

(b) Service tenure

(¢) Promotion test

(d) None
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Which is not used for oral communication.
(a) PA.B.X.

(b) Inter Com

(c) Dictaphone

(d) Paging-system
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9.

10.

Explain about computer. Why is computer the
back-bone of any organisation now?

HFYSR b dR A Ay | HYCR AT Bl
e «al 97 a1 8 ?

OR (3121an)

Write short notes on Teleprinter, Telex system and
Fax system.

eelifiier, Sota Riew vd v Ried wR
wferag fewefl oy |

What are the common barriers to communication ?
How can we overcome them ?

HAYOT B GHET 90 FAT—F7 2 |
3® o9 g fHar &1 adar 2 ?

OR (3121an)

Explain the significance of inter communication in
modern office. How mechanisation helps it ?
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9.

10.

Explain about computer. Why is computer the
back-bone of any organisation now?
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Write short notes on Teleprinter, Telex system and
Fax system.

eelifier, Sota Riew vd v Ried wR
wferg fewgefl iy |

What are the common barriers to communication ?
How can we overcome them ?
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$= »9 g fHar < dwar 2 ?

OR(31214T)

Explain the significance of inter communication in
modern office. How mechanisation helps it ?
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